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How to reconstruct jet axis

* Apply pt cut and
first cut : pt > 1.0 (GeV)
Remaining particles (1~3 particles remain)
calculate jet axis taking average
<eta><@g> -> first jet axis
e Second cut
Calculate cone radius R defined as
R =+/(An)° +(Ag)
apply second cut “R<0.5 and pt >1.0”

and calculate jet axis

-> go to “second cut” ... iteration



Cone R~0.5 Aeta

An (recoil parton n - jet n)

res

An (recoil parton 1 - jet n)

res
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350— Mean =0.02617
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Chi2/ndf =104.3/24
300— Prob =5.443e-12
I Constant = 352.5+ 17.43
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Cone R~0.7 Aeta

An (recoil parton 1 - jet n)

300

250

200

res

Nent =919
Mean =0.01365
RMS =0.3396

Chi2 / ndf =67.73/16

Prob =2.483e-08

Constant = 354.5 + 18.09
Mean =0.01586 + 0.006661
Sigma__=0.1916 + 0.007246
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i RMS =0.4572
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300~ Prob =90.254e-14
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350— Mean = 0.02695
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First : pt >1(GeV) and second R<0.5 && pt>1(GeV)

A n vs. Gamma pt
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FirstCut efficiency vs. Gamma pt
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Jet Tag efficiency vs. Gamma pt
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